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QUESTION 1

Which items are an output of the Perform Integrated Change Control process? 

A. Work performance reports 

B. Accepted deliverables 

C. Project management plan updates 

D. Organizational process assets 

Correct Answer: C 

 

QUESTION 2

The Human Resource Management processes are: 

A. Develop Human Resource Plan, Acquire Project Team, Develop Project Team, and Manage Project Team. 

B. Acquire Project Team, Manage Project Team, Manage Stakeholder Expectations, and Develop Project Team. 

C. Acquire Project Team, Develop Human Resource Plan, Conflict Management, and Manage Project Team. 

D. Develop Project Team, Manage Project Team, Estimate Activity Resources, and Acquire Project Team. 

Correct Answer: A 

 

QUESTION 3

In the Plan Stakeholder Management process, expert judgment is used to: 

A. Provide information needed to plan appropriate ways to engage project stakeholders. 

B. Ensure comprehensive identification and listing of new stakeholders. 

C. Analyze the information needed to develop the project scope statement. 

D. Decide the level of engagement of the stakeholders at each required stage. 

Correct Answer: D 

 

QUESTION 4

Which is the correct formula for calculating expected activity cost for three-point estimating? 

A. Ce = (C0 + 6Cm + Cp)/4 

B. Ce = (6C0 + Cm + Cp)/4 
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C. Ce = (C0 + 4Cm + Cp)/6 

D. Ce = (C0 + C,,, + 4Cp) / 6 

Correct Answer: C 

 

QUESTION 5

Administer Procurements is part of which Process Group? 

A. Planning 

B. Executing 

C. Monitoring and Controlling 

D. Closing 

Correct Answer: C 
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